PR Number: GF-2024-10-03065

PPMP Number: PPMP-2025-101724-0789

Office: PPO

Purpose: FOR OFFICE USE

No.	Item Name	Quantity	Quarter	MOP	Status
1	CORRECTION TAPE	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 39.00 Quantity: 10 Total Cost: 390.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 100 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
2	Eraser, whiteboard, magnetic flannel	2	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 73.00 Quantity: 2 Total Cost: 146.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
3	Hand Sanitizer, Gel, Antibacterial, push-type, 250mL	20	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 158.00 Quantity: 20 Total Cost: 3,160.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 22 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	МОР	Status
4	Jumbo Paper Clips	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 25.00 Quantity: 10 Total Cost: 250.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Delivered Qty: 15 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
5	Magnetic White Board with stand	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 6,995.00 Quantity: 1 Total Cost: 6,995.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 1 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
6	Multi-Insect Killer Spray, 600mL (INSECTICIDE)	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 590.00 Quantity: 10 Total Cost: 5,900.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Delivered Qty: 10 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
7	Multi-Purpose Cleaner, Liquid, 1000mL, any scent	30	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 215.00 Quantity: 30 Total Cost: 6,450.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 43 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
8	Paper Clips Small Vinyl (33MM)	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 15.00 Quantity: 10 Total Cost: 150.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Delivered Qty: 20 Received By: John Claire C. Limosnero Delivered Qty: 10 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
9	Paper Clips Small Vinyl (50mm)	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 25.00 Quantity: 10 Total Cost: 250.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Delivered Qty: 15 Received By: John Claire C. Limosnero Delivered Qty: 10 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
10	STICKY NOTE PAGE 1/2X2IN set with assorted color	2	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 259.00 Quantity: 2 Total Cost: 518.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 2 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
11	STICKY NOTES 3 X 4 ASSORTED COLORS	5	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 69.00 Quantity: 5 Total Cost: 345.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 5 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
12	Scissors, 8" heavy duty, good quality	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 75.00 Quantity: 1 Total Cost: 75.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 10 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
13	Scotch Tape 1 inch x 100 meters	15	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 39.00 Quantity: 15 Total Cost: 585.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 15 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
14	Staple Remover / Staple Wire Remover	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 95.00 Quantity: 1 Total Cost: 95.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Delivered Qty: 1 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
15	Staple Wire No. 35-5M Leg Length 6mm (1/4")	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 78.00 Quantity: 10 Total Cost: 780.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 10 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
16	Stapler, Heavy Duty, 23/6-23/23 (210 sheets), Black	1	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 1,300.00 Quantity: 1 Total Cost: 1,300.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
17	Toilet Tissue Paper, 2 Ply	4	4	Competitive Bidding	PO #: VSU-GOODS-25-29-104 (GF) Bid Price: 180.00 Quantity: 4 Total Cost: 720.00 PO Amount: 563,087.00 Supplier: NEW FIVE STAR TRADING AND PRINTING PRESS Obligation Number: 02-101101-2025-07-03280 Delivered Qty: 59 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING
18	White Folder / File Folder, Legal	50	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 9.00 Quantity: 50 Total Cost: 450.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 765 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING

No.	Item Name	Quantity	Quarter	MOP	Status
19	air freshener	10	4	Competitive Bidding	PO #: VSU-GOODS-25-29-096 (GF) Bid Price: 547.00 Quantity: 10 Total Cost: 5,470.00 PO Amount: 421,690.00 Supplier: LEYTE PAPERWORLD Obligation Number: 02-101101-2025-07-03336 Delivered Qty: 10 Received By: John Claire C. Limosnero Bid Title: GOODS-25-29 is currently under evaluation for award by the BAC Members and TWG. Bid Number: RY5G2M4HCB Bidding Status: IN-BIDDING